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#LP: In aright triangle ABC, right-angled at B, if tan A =1, then verify

that2sinAcosA=1.
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#I@ln Triangle PQR, right-angle at Q, PE
Determine the values of sin P, apetan P.
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HFLP:
2 tan 30°

1+tan30°
(A) sin 60° (B) cos 60° (C) tan 60° D) sin 30°




HLP:

5 cos 60° + 4 sec 30° - tan 45°

sin 30° + cos 30°
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#HLP:If /3sin0~-cos0=0and 0° <0 <90° And the value of 6
3 sinB-we6 =0
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#LP: Find the value of x in the following:
tan 3x =sin 45°cos 45° +sin 30°

{0 n(EKB- 5. * 2




#LP:If tan (A +B) =v/3and tan (A-B) =1; 0°<A +B < 90°; A> B,
find A and B.




@In an acute angled triangle ABC, iftan (A+B-C) =1and
sec (B+C-A)=2, findthe value of A, Band C.




#LP: State whether the following are true or false. Justify your answer.
(i) sin (A +B)=sin A +sinB.

(ii) The value of sin 0 increases as 0 increases.

(iii) The value of cos 6 increases as 0 increases.

(iv) sin 6 = cos 0 for all values of 6.

(v) cot Ais not defined for A =6°




#LP:i) The value of tan A is always less than 1.

(ii) sec A =12/5 for some value of angle A.

(iii)cos A is the abbreviation used for the cosecant of angle A.
(iv) cot Aiis the product of cot and A.

(v) sin 6 = 4/5 for some angle 6.




#LP: tan = 4[5 then the value of 5sin6 - 3cos6 han 8= s\nk

(A) 5/7 5sind + 3cosO 7T
(B) 4/7 jung= Y na
(c) 9,7 < 5‘5\"9 3 (035
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¢ msinA - ncosA

HLP:If mcot A= n, find the valueo W&
M tot A = n_ Msinh=ntos A

Vv
nsinA +Mmeosh




